MATH 2260 Calculus II Name:
Eric Perkerson Date: June 25, 2015

Quiz No. 2

Show all of your work, label your answers clearly, and do not use a calculator.

Problem 1 (25 Points) Find the area of the surface generated by revolving the curve
y = 14 32% from x = 0 to z = 3 about the y-axis. (Hint: Yes, you have to invert this

function.)
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Problem 2 (25 Points) A force of 4 pounds is required to hold a spring stretched 0.1 feet
beyond its natural length. How much work is done in streiching the spring from its natural
length to 1.1 feet beyond its natural length?
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Problem 3 (25 Points) Find an equation of the curve that satisfies
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whose y-intercept is 6.
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Problem 10 (25 Points) Evaluate the integral
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